


Surface Area of Prisms
9.1





Step 1:  Label the 𝑙𝑒𝑛𝑔𝑡ℎ 𝑙 , 𝑤𝑖𝑑𝑡ℎ 𝑤 , 𝑎𝑛𝑑 ℎ𝑒𝑖𝑔ℎ𝑡 (ℎ) of the

the prism.

𝑙𝑒𝑛𝑔𝑡ℎ

𝑤𝑖𝑑𝑡ℎ

ℎ𝑒𝑖𝑔ℎ𝑡

Step 2:  Substitute values into formula.

= 2 5 3 + 2 5 6 + 2(3)(6)

= 30 + 60 + 36

= 126



𝑤𝑖𝑑𝑡ℎ
𝑙𝑒𝑛𝑔𝑡ℎ

ℎ𝑒𝑖𝑔ℎ𝑡

𝑆 = 2 3 2 + 2 3 4 + 2(2)(4)

= 12 + 24 + 16

= 52 𝑓𝑡2

𝑤𝑖𝑑𝑡ℎ

𝑙𝑒𝑛𝑔𝑡ℎ
ℎ𝑒𝑖𝑔ℎ𝑡

𝑆 = 2 8 8 + 2 8 5 + 2(8)(5)

= 128 + 80 + 80

= 288 𝑚2



A triangular prism has 5 faces.

• Two triangular bases

• Three rectangular sides

back
bottom

slanted

face

base base



3 ft

4 ft

6 ft
5 ft

3 ft

4 ft

3 ft

4 ft

back3 ft

6 ft

bottom4 ft

6 ft

slanted

face 5 ft

6 ft

𝑇𝑟𝑖𝑎𝑛𝑔𝑙𝑒: 𝐴 =
1

2
𝑏ℎ

𝐴 =
1

2
4 3 = 6 × 2 = 12 𝑓𝑡2Rect𝑎𝑛𝑔𝑙𝑒: 𝐴 = 𝑙𝑤

𝐴 = (6)(5) = 30 𝑓𝑡2 𝐴 = (6)(4) = 24 𝑓𝑡2 𝐴 = (6)(3) = 18 𝑓𝑡2



3 ft

4 ft

6 ft
5 ft

𝑆 = 12 + 30 + 24 + 18 = 84 𝑓𝑡2



3 m

12 m

5 m

13 m

𝐴 =
1

2
12 5 = 30 × 2 = 60 𝑓𝑡2 5 m

3 m

𝐴 = (12)(3) = 36 𝑓𝑡2

𝐴 = (5)(3) = 15 𝑓𝑡2

𝐴 = (13)(3) = 39 𝑓𝑡2

𝑆 = 60 + 36 + 15 + 39 = 150 𝑓𝑡2



𝑆 = 6𝑠2

















𝐴 =
1

2
(11.2)(4.5)

𝐴 = 8(4.5)

𝐴 = 8(6.7)

= 25.2

= 36

= 53.6


